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(a) Only assumption I is implicit.
Sperer qeerToTT 1 st ¥
(b) Both I and II are implicit.
I 3R 11 g sfaffed &l
(¢) Neither I nor II is implicit.

TAT L AR T I Aaftea 2l

(d) Only assumption II is implicit.

FaeT gL 11 siafifee 2

Q.1 Statement: / A
X said to Y, "I want to do research on the effects of

secondhand smoke on children below the age of 5 years."
XY ¥ &, "H 5 AT | HH AT o Tooll W IHAN &H
YU 1 TE © FI AT THTS T Il SHEAT SATgat 51"

Assumptions : / GO :

I. The effect caused by secondhand smoke on children

under 5 years of age can be known through research.

I. 5 ATt | A 3T o Todll U YU & YU hY a8 | g
Tt THTS R I & ATEAH | AT ST Heha T 2

I1. X has the skill and aptitude for such research.

I1. 9 dYE o YT o TeTU X o OT8 ShivTeT 311X It 2
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MISSION SELECTION - SSC 2024
Q.2 A piece of paper is folded and punched as shown below in
the question figures. From the given answer figures, indicate
how it will appear when opened./ ShTTTS <l Uch gehesT HET AR
TT 5T & A Tk it fu U war 3 sriekeil @ fe@man wan 71 fiw
M0 I & 3Afehel 1, sﬁmﬁ%@wmﬁwa%%@rﬁ@é%m

r‘|
Lll

NImEIA
(D)
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Q.3 Forereat W ¥ AGATAT o AT T A &L, A
FreferRaa searent %W%W%I / Select the set of

numbers from the options, which is similar to following set

of numbers.

(60, 83, 37)

A -(167,28,72) B - (189,29, 35)
C - (150, 35,25) D - (160, 187, 133)
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/4 / D Q.4 In a certain code of language “COMBINATION” is coded
| E®> as “56921592463” and “NIGHTMARE” is coded as

) “591428795”, so find the code of “ALLTOGETHER” from
the given alternatives? / ATYT o Ueh Higd hig |
“COMBINATION” & "'56921592463" o U | hifed fhaT
AT 3T “NIGHTMARE?” T "591428795" o &9 U shifgd
Torar T 2, 1 feu o faeheat H ¥ "ALLTOGETHER" ST &hig

T hi?

A - 97855455444 B - 95825762331
C -98764543218 D - 95825643267
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Q.5 ST IRV SHH oh FTAR TR vTaat
( > ehi STaTeerd @il / Arrange the following words

according to the English dictionary order.

1. Excellence
2. Excitement
3. Exclusive
4. Executive

5. Exception
A-1756234 B-1572634

C-1573426 D-1754362

6. Exclamation

7. Excessive



MISSION SELECTION - SSC 2024

Q.6 Select the option in which the given figure
is embedded. / 3 TIheT T g i Raw &

n's‘aiﬁﬁf%?r%l

(A) (B)
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Q.7 f2w o faremedt § | weitera sTee ot oI+ hi: / Select the

related word from the given alternatives:

Human : Food : Bike : ?

A - Heavy water B - Rain
C - Petrol D - Coconut Oil
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Q.8 Choose the Venn diagram form the given options that best
represents the relationship amongst the following classes: / feu e
classes o STl eIl hT TTH TTST TTA AT i ATeT A AT hl
g il

Son, Father, Grandfather

(A) (B) (©) )
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Q.9 A § H T 3716 STh Teh JAThRR SaeT WX 3 <hi ST THAT ¥ FU S &,
~ TR QT ShE U T8I/ Eight persons sitting A-H, sitting around a round table
3 facing towards the center but not in same order.
1.A D o 978 3T 8 AL TAT W AST ¢ AR D F o T AR T T8 T W SAST 21 /
A sits second to left of D, who sits third to the left of F.
2. E 3R B, F % TcehTcl USIHT &, IR E, A % aTS 3TR & T8 T W I3 31 /

E and B are immediate neighbors of F, but E sits second to the left of A.

3. C, H'* ET3 3T 8 TAY TAT W ST 2, IR H D % |1 TET ST 81 C o6 35 AR A
@WW@?@W%‘? / C sits second to the right of H, who doesn’t sit with D.
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Q.10 Study the given pattern carefully and select the number

from among the given options that can replace the question mark
(?) in it. f3T 7T Yt &1 samgEe sreaam i TR fou T faemeut &
W IY HEAT T I R AT IUH AT Telg (?) Tl Tt

(a) 18
(b) 17
(c¢) 21

(d) 19
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Q.11 A series is given with one term missing. Select the correct

alternative from the given ones that will complete the series. / Tch

HATRH Taam T &, o & ek ug 9w 3| o e foekeat # & o a3t
forehea T, ST STTRA &1 T Y|
FGC, HHA, JIY,?

A) KKW B) LIW
C) LKX D) KJX
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(a) Both assumption I and II are
implicit

TAEROTT | 3R 1 3 &t srafifea @
(b) A AL | AT Bl
Only assumption I is implicit.

(¢) SR THELIRUT I1 afifea 2l
Only assumption II is implicit.

(d) T aF UHHRUT [ R T &
TSEROTT 11 sfaffEa 2

Q.12 Statement: / hA-:

The regional sales manager said to his colleague, "I am eagerly waiting to

present this year's report to the top management"'.

s Tarshl Ueierer 9 3TUX TEAWM | T, "7 30 a9 <kl e =y 3y uaies
& TTH TEIA T ShT IeqhaT o TfTerT @15

Assumption: / uﬁarr{m:
I. The company has made some new acquisitions in that area.
1. 39 & | &A1 3 %9 T4 srfenrgor fou B

II. The manager has important information which exerts an influence on

the top management.

I1. Yeiereh oh UTH HEcaqUl ATHehRI € ST TS Tefer U Teh TS STeAd 2|
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Q.13 37 faerea =1 == & Rraes Feferfaa
3TThgT ugrg‘rml / Select the option in which

will complete the following figure.
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Q.14 Select the missing letters from the given alternatives. feu
T frehedi H | TTH STeRT ol =& &l

CDH:DEI:: MNR:?

A -NOM B - NOS
C - BGF D - NFG
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Q.15 IS T Teh RS HST 3R T 53T & Wit fos e fag g

<\ T2 <k Tehet H faEmar T 21 {2 U ST <k stiehst |/, g

- %@wwﬁmw%&ﬁ@éﬁm / A piece of paper is folded
and punched as shown below in the question figures. From

the given answer figures, indicate how it will appear when

opened.

Py Py Py
h:: i_ﬁ“i“'il i“l

(A)
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Q.16 A man turned 35 years when his son was born. His
wife was 38 years old when his only son attained the age of 7
years. The difference between the ages of the father and the
mother is __? / Ueh SATh 35 TW T &1 TTAT TS IHERT U UaT
THT| IThT Ut chl HATT 38 W oft T IHRT Fehed Id U hl
1Y 7 73| TUar SfiT W <t org ot SR _ ¥2

A - 4 years B - S years
C - 6 years D - 7 years
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Q.17 feu U ferereat ® O forww st o= = /

Select the odd one from the given alternatives.

A -182 B-143
C-195 D -190
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Q.18 Two positions of the same dice are given, which of the
following number will be opposite to 2? / Teh &I UTH TRl T TATH
Rrg g #, fre i & o o v 2 3 Ry Bt
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Q.19 In a certain code of language, ‘+’ represents ‘x’, ¢-¢
represents ‘+’, ‘x’ represents ‘=’ and ‘=’ represents ‘-‘ what is
the answer of following expression; / fe Ueh e wmem &+
‘X’ BT, -¢ “+° BT, ‘x° T T 3T ‘= “-¢ ST ATATTeeT il &
FefeTRera TreteRToT st ST T 3|

35+10~260x13-70 =210x3~5+2=7?

A -340 B -330
C-320 D - 310
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Q.20 Arun cycles 6km north, then turns east and cycles 4km, then
turns south and cycles 6km, then turns to his right and cycles 7km.
Where is he now with reference to his starting position? Arun 6km 3™
3 Emg et wrera &, Ft gt o 3T AT ¥ 3 dkm WA SeMAT R,
forR gfRror it 3R AT ¥ o1 6km wretTan 2, foR oot 318 o Hear @
3R 7km TTS et TATAT Bl T AE AT TRIhR TATT ok Taw H hgi 2 /

A - 2km south B - 3km south
C -3km west D - 12km east
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Q.21 A series is given with one word missing. Choose the

correct alternative from the given ones that will complete the

series. / Teh HTEAT 31 18 § o™ Uk ug ¥ ¢ | Tou g forsmeat
H O T S SEAT RO &

Wood, Oddest, Station, Onion, Onscreen, ?

-4

\"\(“—N/

A - Tide B - Electric
C - Energy D - Moon
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Q.22 T3 HTAT H TTAT AT AT hi? /

Find out the next number in the series given.

90, 93, 98, ?, 116, 129

A -108 B-105
C-115 D -120
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Q.23 Select the option that is related to the third number in

the same way as the second number is related to the first

number./ 30 Thed &1 T KA AT O ST o 39T
TeRT Heifera 7 fore Term ot St ueelt deat & Heiferd 2|

223 :350::519:?

(a) 736
(b) 687
(c) 654
(d) 645
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(a) Neither I nor II is implicit.

AT AR AE I safAfza 3l

(b) Only assumption I is implicit.
HAET TSTRUTT | Sfafited gl

(¢) Both I and II are implicit.

I 3R 11 2T stafafaa B

(d) Only assumption II is implicit.

hael g 11 siafifea 21

Q.24 Statement: / v

An advertisement claims, '"We manufacture the best bike in
India, which has high speed with unique safety features."

Presumption:

Teh fORITUA STaT AT B, "EH URd W T =St 915k ot (|t
e &, Forer ey wifer 36 wmer sifefter e gfvamd € | ¢ gdemwom:

I. There is no other bike in India with such safety features.
1. TR § TET TRRT Glrermaett STet g o7 a1geh 78 2

I1. People can buy bike of this price.

I1. ¥ 9 hivd hl STeeh WS Tohd Bl
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Q.25 h¥YH: / Statements:
AHT Pears Dears % / All Pears are Dears
EW Dears Mears 'a!ﬁ‘%/ Some Dears are Mears

EW Mears Lears %/ Some Mears are Lears
fAseR: / Conclusions

| g—@‘ Lears Pears %/ Some Lears are Pears

I1. 33 dears lears gﬁ%/ Some dears are lears

A - hael ey | AT ?:I'T{?IT%| / Only conclusion I follows
B - g1 HeeRd [ 3R 11 AT EI'R%I‘%V Both the conclusions I and II follow

C -Tar ARy [ 3Tk ??f 11 anl;HTUT WFIT%/ Neither conclusion I nor II follow
D - shaet fAwRY [1 STTERUT &HIEAT &/ Only conclusion 1 follows
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